2022 MCSHS GPA / Class Rank Presentation



MCSHS Weighted Courses

ENGLISH	MATHEMATICS	SOCIAL STUDIES	SCIENCE	ADDITIONAL COURSES
 HONORS ENGLISH I HONORS ENGLISH II AP ENGLISH LANGUAGE ENG III ENG II2 	 HONORS ALGEBRA II HONORS GEOMETRY MTH III MTH 112 MTH 123 	 HONORS SURVEY OF SOCIAL STUDIES AP WORLD HISTORY AP U.S. HISTORY HST 110 HST 120 	 HONORS INTEGRATE D SCIENCE HONORS BIOLOGY BIO 110 	 AP ART (2D, 3D, DRAWING) EDU 220 EDU 300 AGR 100 AGR 182 PSY 111 SOC 110 MAC 120

MCSHS GPA and Class Rank

Weighted Class Rank

- Based on your percentage scores for your credits earned (Final grade each semester)
- Weighted classes have a 1.25 multiplier applied to the average when calculating class rank
- Class rank is used for selection of Valedictorian and Salutatorian
- Class rank is used for more selective admission colleges
- Competitive scholarships will ask for a student's class rank



Unweighted GPA

- Based on a traditional 4-point system
- Used for graduation honors
- Colleges use this for automatic scholarships
- All courses are equal in weight
 - A = 4 points
 - B = 3 points
 - C = 2 points
 - \circ D = 1 point
 - F = 0 points

MCSHS - Sample Transcript

Course Number	Course Name	Repeat Course	Score	Weighted	Unweighted
oup: 21-22 - MERCEF	COUNTY SENIOR HIGH SCHOOL - Grade	11			
210222	Engineering II	No	A/100	100	4
210232B	Electrical Engineering	No	A/95	95	4
230166 AP A	AP ENGLISH III A	No	95	118.75	4
230166 AP B	AP ENGLISH III B	No	95	118.75	4
270501CU2	MTH 112 CU TRIGONOMETRY	No	99	123.75	4
304521 A	CHEMISTRY A	No	A/98	98	4
304521 B	CHEMISTRY B	No	A/94	94	4
32512	ANATOMY AND PHYSIOLOGY	No	A/95	95	4
32970	ADVISOR / ADVISEE 11	No	Р		
450814 AP A	AP U.S. HISTORY A	No	95	118.75	4
450814 AP B	AP U.S. HISTORY B	No	96	120	4
80021CU A	MTH 111 CU Col. ALG	No	98	122.5	4

MCSHS - Sample Class Rank

Rank Student(#)	Total Grade Points	Total Weight	Cumulative GPA
1	2441.125	24.00	101.71
2	2332.875	23.00	101.43
3	2193.000	22.00	99.68
4	2286.875	23.00	99.43
5	1984.500	20.00	99.23
6	2256.750	23.00	98.12
7	1957.625	20.00	97.88
8	2340.375	24.00	97.52
9	2328.125	24.00	97.01
10	2022.625	21.00	96.32

MCSHS - Transcript Statistics

Transcript Sta GPA Type	GPA	Class Rank	Percentile
Weighted GPA	94.41	16 of 148	89.19%
Unweighted GPA	3.76	17 of 148	88.51%